TR 2 6 R TRENES AR
G T

HH:Fk26410H16H

LT RGERE ¥ — BERFEE ¥ —KE

(R) ~17RH (@)

o

[ ==

H W iR E S Al Y
8 : 45~ 9 : 00|%ff B ERIRIFEE v 2 — Rk
9:00~9:05(A V=T —Tar
9: 05~ 9 : 20|BHi o bR AN /i
9:20~ 9 : 40|E DK « FFHEBXIR & ENIRRBERE OB Y A ARG v 7 — R I\AG I
9:40~10 : 25| FBHEDMA - HNEE XD R v ¥ — 5 I\AG CIN
10
10 : 25~10 : 35[1k#
A
10 : 35~11 : O0|FFEHRDF — LEHE  (FFIER s o 5&E) FFIBNEHE R MTEbRE  IERN
16
11 : 00~11 : 25|[F & 0 A LR & YL Bh1H FIBNEHE R (= — i ]
H
11 : 25~12 : 15|l OIRE (RFAZF.LE L) FRIGIEIFEE R EITINECSS
Al 12:15~13: 15|B &
13 : 15~14 : 05|77 A )L AT D Bl DRI KIRERE > 2 —
Mk ERGEEHEGEN R =8 WA
14 : 05~14 : 35|FRBICK9 2 B HIE & g R Ic >\ T V=¥ T = — T st
14 : 35~15 : 25|/iFhik & (RH - % JUMEFRE v & —
gt v & —iE FARE B
15 : 25~15 : 35[1k#
15 : 35~16 : 45|JEk~ KT A v N O FE KRR T AR E R HE A 8 H XE
16 : 45~17 : 35[HRFIZH VIRV, B e R4 50 - Hil M A HE R PR AN AR ET
8:30~ 8:45|%ft
8 : 45~ 9 : 15|/ MiE A DR KSR O KR KR A D2
10 FHRE KiE S BT
H| 9:15~12:00({Z/V—FU—2 GES YN S
FREE EBIAZIBELELZDFEHE LT BAY T F—A 1G: #H XE
17 FV = TF— g 2G:HE Ht
3G AR
H Ty T —H— BEreS e
12 : 00~13 : 00| B &
4| 13 :00~13 : 20|/ NV—TF T —2
13 : 20~13 : 40|33 Ui
13 : 40~14 : 50| 7 N—TFE 1G: 74 (21%) HEEEE: 14%
14 : 50~15: 10|E &£ &
15 : 10~15 : 30|#qF FOH A D2
FHRE KiE - BT
WK v 4 — R I\F CIN
EHilE R lE =T
15 : 30~16 : 00|f& T REER 58 L Oz




